
 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
60
61

WTS 2014 1569892903

1



 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
60
61

2



 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
60
61

3



 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
60
61

4



 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
60
61

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
15

10

5

0

5

10

15

20

25

path loss exponent

u
p

li
n

k
w

o
rs

t
S

IR
d

B
reuse one
FFR=3
FFR=4 µ=0
FFR=4 µ=0.6
sectored FFR µ=0
sectored FFR µ=0.6

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
12

10

8

6

4

2

0

2

4

6

 inner raduis / cell raduis ratio (r/R)

S
IR

c
o
r
n

er
d

B

=2

=4

=8

=10

=100

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

 pathloss exponent

in
n

er
ra

d
u

is
/c

el
l

ra
d

iu
s

FFR=3
FFR=4
Sectored FFR
SFR =2
SFR =4
SFR =8
SFR =10
SFR =100

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

 pathloss exponent

in
n

e
r

ra
d

u
is

/c
e
ll

ra
d

iu
s

FFR=3
FFR=4
Sectored FFR
SFR =2
SFR =4
SFR =8
SFR =10
SFR =100

5



 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
60
61

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
0

0.2

0.4

0.6

0.8

1

1.2

1.4

path loss exponent

E
d

g
e

u
se

r
S

E
FFR=3
FFR=4 with =0
FFR=4 with =0.6
Sectored FFR3 =0
Sectored FFR3 =0.6
reuse one

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

 pathloss exponent

o
u

ta
g

e
p

ro
b

a
b

il
it

y

FRF=3
FRF=4 with =0
FRF=4 with =0.6
Sectored FFR with =0
Sectored FFR with =0.6
SFR =1
SFR =4
SFR =8
SFR =100
SFR =200

6


